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Christmas Multiplication

Solve the following word problems.

Santa Claus is packing gifts for children. Each gift
weighs 0.75 Ib. If he packs 8 gifts in a sack, how
much does the sack weigh?

In a Christmas sale, a shop is selling decorative
lights for $2.50 each. If a customer buys 7 lights,
how much will he pay?

Each Christmas tree ornament weighs 0.35 Ib. If a
Christmas tree has 9 ornaments, what is the total
weight of the ornaments?

A Christmas cake weighs 1.25 |b. If a bakery makes
6 such cakes, what is the total weight of the cakes?

A Christmas card costs $1.50. If John buys 10
cards, how much does he pay?

Each Christmas stocking weighs 0.45 |b. If a
fireplace has 5 stockings, what is the total weight
of the stockings?

Each Christmas tree at a farm costs $15.75. If a
customer buys 6 trees, how much will the customer

pay?

A Christmas wreath costs $3.75. If a customer buys
4 wreaths, how much will she pay?

9 Each Christmas candle weighs 0.85 Ib. If a table
has 3 candles, what is the total weight of the

iandles?

] www.splashlearn.com




